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@ a+c @ a-b? ® a®-b>+ 2

@a2+b2+c2 ® a®+b* -

a® — a®b + ab® + ac® - b® — bc?

=a®-b*+ (a-b)c? —ab(a-b)

= (a-b)(a® + ab + b?) + (a - b)c* — ab(a - b)
= (a-b)(a* + ab + b + ¢ — ab)
=(a—=b)(a®+b*+c?)
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@(x—l)(x+2)(x2+x+3) @ (x-1)(x+2)(x* +x-3)

@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x-2)(x-x+3)

@

+x = X2} 5pAk
(% ) =X(X+1)-6

=X2+X-6

=(X+3)(X-2)

=(x+x+3)(x*+x-2)
=(x-1)(x+2)(x*+x+3)
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O (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)
@) (x-1)(x-2)(x-3) @ (x+1)(x+2)(x—3)
® (x=1)(x=2)(x+3)
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O (x-1)(x-2) @ @+)x+2) @u+1)x-2)
@ (x-1)(x-2) ® (x+1)(x-1)
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31t 243 -9x2 4+ 4
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4y = (x+y)° = 3xy(x +)
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z=a+bi(a bEAFZEE

@ z-z = (a+ bi)(a - bi) = a®

© z+7z = (a+ bi) + (a—bi) = 2a (A=)

© z-z = (a+ bi) — (a— bi) = 2bi

b=0°]H A4, b+ 0 °H 5|50t

@ @z+1)Z+1) =(a+bi+1)(a-bi+1)
= (a+ 1+ bi)(a+1-bi)
= (a+1)%+52 (2F)
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<@>2x2 + ax — a?

B

2x% + 5ax — a® = P(x)(x + 3a) + 2a? 0| B2

P(x)(x + 3a) = 2x? + bax — 3a*

whebA], TFeA] P(x) & 2x2+5ax—3a% & x+3a 2 e RO|B2
P(x)=2x-a

“ (x+a)P(x) = (x+a)(2x—a)
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mbA f(x) = 4x3 + 4x2 + x + 1
=x(4x? +4x+1)+1
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O (x—y-2)2=x%-y?—22 —2xy + 2y7 — 22x

@ (3x-2y)% = 27x3 — 54x%y + 18xy? — 8y3

® (x+y)(x =) +xy —y*)(x* —xy +y?) = 27 —)°
@D)(x2 —2xy + 2y) (2% + 2xy + 2y?) = x* + 4y*

® (x+y-DE2+y*—xy+2x+2y+1) =2 +y> - 3xy -1

B

@ x-y-2?=x>4+y>+22-2xy+2yz - 22x
@ (3x —2y)? = 27x® — 54x?y + 36xy? — 8y3
@ (x+y)(x =) (¥ + 1y +y*) (x? = xy +?)
— xS
O @x+y-1)(x+y*-xy+x+y+1)
=x3+y3-3xy—-1
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a+b+c=0, a®>+b*>+c? =14 W, 4(a®b? +b?c? +c%a?) o] 727

1
@ @ 3 @1 @ 2 ® 3

o=

B ~

(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—“(‘5) =1
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AHEE x,y, 29 g BE W, 3x+y+29] 2

@1 @ 2 ® 3 @4 ® 5

B

Fo1% A& kol sl A 2lstH
(2x—2)k?> = (Bx+y)k— (2y—4z+28) =0

L 2x-2=0,3x4+y=0,2y-4z+28 =0
z=2x, y=—-3x 22y —4z+ 28 = 0°] s
x=2,y=-6,z=4

L3x+y+z=4




f(x)=x>*-4x>+ax+b

= +2)(x-a) &FF2 5 A
B—ax® +2x-20=x>-4x>+ax+b
ca=4, a=2, b=-8
L 3a+b=-2
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oF4l f(0) & x- 1, v—22 e YelA7t 271, 29
K2 = 3x 4 22 Ui YA 2 F5hw?

@ x—1 @ x+1 @ —x 1
@ ® -

f)=@x-1D0(x)+1 = (1)
fxX)=(x-2)02x)+2 = f(2)=2
f(x) = (x=1)(x = 2)Q3(x) + ax + b=} 5},
F1) = at b= 1. £(2) =2+ b 2015k
wa=1, b=0°B2 YHI|E x
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® 574 @ 774 @97H @ 117 ® 1371

x> —-x-n=(x+a)(x-b) (a, b = ZA) 2t oIH
b=a+1,ab=n(1<n<100)

a 12345 6 7 8 9

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90
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@ 2x24+x+3 @ 2x2+3x-1 @ x2-x-2

@QXQ—X—I ® x*-3x-2
B )

HAj st x - 10122

= AL Alx - 1), B(x— 1)

(A BX A2 40l 011}/\1) oz =0
¥ -Tx+6=AB(x-1)
(x-1)(x-2)(x+3) =AB(x-1)

" AB= (x-2)(x+3)

A, BE ¥ApAolojof stE 2

A=x-2 A=x+3
B=x+3 B=x-2
et F SHAL (x—1)(r2), (x—1)(x+3) Ik

- (5 ohaA e )
=x-Dx-2)+(x-D(x+3)=2x2-x-1
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ol W, (a, b) = (b, r)7t 3ATL.
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ﬁr 240 9] Hj-FF4E Hot=

(1996,240) = (240, (7h)= ((7}), 12) = (12, (H}))=()

O (7h="14, (h)=2 @ (7h=12, (th)=6
® (FH=718, (H)=2 @ (7h=16, (*H)=6

1996 = 240 - 8 4+ 76, 240 = 76 - 3 + 12
76=12-6+4 0|22
(1996, 240) = (240, 76) = (76, 12) = (12, 4) = 4




